MacGuffin User Bit Patterns

The use of the user patterns is best explained by an example. In the RF relay configuration below driver amp 2 is shared with paths 5 and 7. The multi-pole relay has individual coils while the 8 band RF switch has a binary input.
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An image of the spreadsheet for converting bit patterns into hex values is attached below.       MacGuffin User Bit Patterns.xlsx

Bits 0 to 7 of the pattern are assigned to an IO output port with bits 0, 1, and 2 connected to the coils of the multi-pole relay. Pattern bits 0, 1, and 2 are assigned to paths 2, 5 and 7.

Bits 8 to 15 are primarily for controlling the relays for bands 8 to 15. When fewer than 9 bands are used they may be used for other purposes.
In this example Bits 8 to 15 are assigned to an IO port connected to the 8 band RF switch. A modified binary progression for bands 0 to 7 is entered into bit 8 to 10. 
0’s have been entered in the example to help illustrate the binary values.
Pattern bits 8 to 15 appear as the 0 to 7 bits on the IO port. Bits 0 to 2 are connected to the input bits of the 8 band RF switch TX0, TX1, and TX2.

The hex values at the bottom of the worksheet would be entered into the sketch.
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Arduino sketch lines with default values.
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 Since in this example the two uses of the pattern take fewer than 9 bits total they can be combined to use only bits 0 to 7. Thus 2 switching functions could be controlled by one IO port if the relay has a logic level inputs like the 8 band RF switch.
This would free up bits 8 to 15 for yet another use.
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